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60 60 180
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60 180 3
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‘- AB 51| S 3% TaII (P = T x AB

2mr

r r 1
=-Xs=-Xr0=-r?0
2 2 2

widfe, AB 1 G 2 O CFae ~ 120 T 4T @ 0 AN GFF |
BT QAN SN, (FICOR W fFCAITe @red Freia CFass (9 F0e = (a1 44, AB 59t

e (FTF £AOB = 0; @ B s < (20) = g, [+ 10 = ]

180 180

: AOB &7 (FageT= ~r26° = - X 12 X Lt _ O 2 [ @, 6, fa AR

180 360

Trizgel-sy: @B Jestet 30 G YrTERRFE @ Jrew @rm 60° (19 Test o1 BB SO weEI J@F

cvagd Nfr e [JB15]
C (o} . _ o
S (ST SR, 0 = 60° = (60 X 11:70) - ﬂ? fR@=1: 91, 8, = 60
8, o _ 60 2
J PGP = —mr- = — X X 30
- JEFAR ORGP = 2120 = {3 x (30)? x T} m? Lo 360 360
— 47124 m? = 47124 m?

Trtzael-52: 93 Jreq [ITE 8 G, q3r @B JEIA (@T™ 56° Tl T, JSFAT CFAPA (AT I [BB’15]

LI (ST BITCR, 08 FFIE = 8 cm
JIBI TG T B (I, 0 = 56° = (56 X )

180
—1s.2 -1 2 LI 2
TG (PG =~ X 12 X 0 = X (8)? X 56 X — = 31.28 cm

TTzEel-59: IO CFGP 49T R0 RIACIA LA CFagee fefy 3971

AT (FRE (T JOF (FICe fagel |
m \€ 27¢
~ 2BOC=2x%x/BAC =2 x60°=120°= (120 ><—) =—
180
4f<, Jrea T = r
PR AT =’ 2 49n=mr =12 =49 . 1 = 7 GFF |
2T

. —1ly2p1 2 g 21
- JEPI CFATA =~ X170 =~ % (7)% X 3

= %n 3+f @& 1 (Ans.)




Ol T&EXT 71/ @mﬂf‘%mﬂa:@m-ow/

Gnizacl-y8: form, 13 GL.A. TP =20 J8 R Tofivfco it (e NSl Ay 24 G1L.. | TR
e Aff @ cwaa fadfy

ST ACAE- @ AE = %AB =12

AE 12
cosf ==, 0= 0.3948 e

YR SR AR = 2 X 517 CD = 2 x 13 X 2£CAD
=2x13x 26
=2x13x2x0.3948 = 20.5 GT.f.

Y LR (FGF = 2 X CDF SR (Fqhed

= 2(ACD JSRT*F CFQF — AACD- GF CFaEH)

=2 EXACZ X ZCAD — 2 X AD x AC XsinLCAD]

=2 [;x132x 20— 3 x 132 xsin20] = 2 [; x 132 x 2 x 0.3948 — 3 x 132 X sin(2 X 0.3948)|
= 2[66.7212 — 60.0011] = 13.44 3 GI.f. (&)

P

THIRA-d¢: fota 2 «F% JPIE @R Q ¢ S FwRFE 72T I8 A7 P ¢ R [Iqre w®sgeId

R
(&7 FCF | PQRS @ CH@F CFaTe [T 41
ST P,Q; Q, S @J P, S (i F |
T APQS @3B ANIR fq@s AAPQ = QS = PS = 2 @FF AR LP = 2Q = £S5 ==

3
V3 2 _ Y
—a —_

- APQS ¥ (R = *~a? = +=.2% = V33 4% | [ a = PQ = 2 93]

PQS JGFT CFaF = ~126 = .22, 231 433 | [+ a = PQ = 2 &3]

=Z3faz=

- PQ Gl AT ST 67 RRICR S ot = (20— V3 ) 3of e

. PQRS (SR (R = 2 X APQS & (e + 4 X RIAICHAT ST CFRaraeet
= {23 +4(5 - V3)}af ez
= (2v3+Z - 4V3) f a3
= (F-2v3) of a7

e e s ot /7 /A




_______

g9 My 932 AECD 0@ (Faee] [T 35911
4 AB = BC = 4m
AC =42 + 42 = 42 W51
7 7 AC
ADC SI43qred jpTE = — = 272 b

- ADC SI4J0e (Rt = —mr? = 8 = 4 3 o

AEC aam=re=4x§=6.28ﬁ%1a

- AECB 3G CFAF = ~120 = 242 x = = 4n 3 o

AABCW‘(P‘RICWW=%X42 = 8 35 fiioI"

~ AECD @9 (a1 = ADC WWCWW — AEC (&g CFazee]

= ADC S430e7 (@@ — (AECB €9 (Fa®e — AABC €3 (@) = 41 — 41 + 8 = 8 35 o

3m

21m

I cosine 3@ (O /3,

152+92-212 1
cosqa =————=cosa=—-=cos120°
2.15.9 2

~a=120°= (120 X %)C ==

AABcaamw:%xlswxsimzm=Mm2

4

ADE JEF CFaF = = X 120

1 2
=5x62x?“=12nm2

- BRI ST et = 22 _ 190 = 20.76m? (2)

4

E  foras maeeat s oFase Wew 991 [RB’17]

2, .2_,2
cosA:bJrC = ﬁnﬂBC\olﬂal"@?@

2bc

S SHCS ARCA |

B ey /]

9




01.

02.

03.

04.

05.

B ey /]

Orowed sfere o *@: tﬂm-o\b/

W JOICoR e e

piv=fefes [Toe Intag o

B TR AT, J8T 8 IOTTP RO AT TAT TR TP
W G gt el

[ @ MCQ '€ FYw ]

B

OA OAB 31 (el T 3 G1.1.2

[Din.B’19]
(@) 1.05  (b)2.09 (c)419  (d)8.38
ST (0); T X 4% X = = 4.19 5q.cm.,

B

£AOB = 30° @R OB = 12 G<<¢ [,

AOB J&F=T (Fae] (FI(6? [CB’17]
(am (b) 2m (c) 12m (d)24mn

0
TG (¢); TP CRGFT = - X mir?
=336—0(;><1TX(12)2 =12
@3> fagrem foqfb (Ieea Sl 3 : 4 : 5 2,
et foafba ifmrst 23- [JB°19]
(a) 30°,40°,50° (b) 40°,60°, 80°
(c) 45°, 60°,75° (d) 50°, 60°, 75°
AT (¢); 3x + 4x + 5x = 180° .~ x = 15°
1ot foafB: 45°,60°,75°1

E
AB; AB = 6cm, 5% BE =?  [RB’17]

(a)gcm (d) 2 cm
ST (a); WPNE, r = 3cm; 0 = 30°
=< ;S=rg=3xz=

(b) 32—7[ cm  (¢) tcm

T
—Ccm
2

[ awfirm MCQ @ i |

T 6 «F% JIPTE @ O FWRME «H6 Jred uid
1T AB 8 CD T ¥3R £A0D = 160° =, ©F AOC
€ BOD JIR*GCAF (B (FIF F© GFF R(A?

[RU’17-18]
(a) 4T (b) 6™ (c) 7.5m (d) 3m
. (e 6 2
ANL: (a); 2 X 3000 XTI
= 2 X=X X 62 = 4 T 4FF |

06.

07.

08.

The isosceles right triangle has a side AC of length

5 cm and PQ shows the arc of a circle centered at

A. Find the area of the shaded region given below.
[TUT’19-20]

(a) 1.2547 cm? (b) 2.4142 cm?

(c) 1.8174 cm? (d) 2.6825 cm?
Solution: (d); AABC, isosceles right triangle
~AB=AC=5cm

~ BC=v5%+52 =5V2 cm

If, D is the midpoint of BC then,

cD=BD=22.CD=BD="cm
2 V2

5

Again, as AADC is isosceles, AD = CD = =

cm

N

- Area of the shaded region
Y
=) = 26825 cm?

GG B (FTT 24° (1 TR FC | M 0

11 49 RBH = O I8 T (RG] 97
[BUTEX’16-17]

(b) 124.72 sq. meter

(d) 122.72 sq. meter

1 1
=—x5x5——an(
2 4

(a) 125.72 sq. meter
(c) 123.72 sq. meter
ST (a); (RO = —— X T X (?)2 m?

= 125.72 m?

?3? [JU’18-19, 14-15]
(a)84°  (b)85°  (c)86° (d) 87°

. ,7m _ 7x180° ®
FAY: (a); -2 = — — = 84




S/

09.

10.

11.

12.

01.

B ey /]

Orowed sfere o *@: Tﬂﬂﬂ'.ﬂ-o\b/

@b fagre 7ib (Pid I 72°53'51" @R
37°6'9" 2 gy (elfGa Wi @t Fo?

[JU’18-19]
T 5T 7T 11T
(@) (b) ©) % d—
STATEIE: (¢); x = 180 — 72°53'51" — 37°6'9"
o = U _ 7%
=70°= 180 18

5 cm gPTE M2 089 GG 517 (0@ 40° (I
T I @ B AT PO cm?  [KU'19-20]
(2)3.491 (b)3.520 (c)3.641  (d)4.00

ST (a); r = 5cm, 8 = 40° = (40 x i)

180
_2m

9
=1.11m = 3.491 cm

If a particle reaches one end of a diameter from other

10T

2T
= = X — =
s=r8=5 5 5

end along circumference of a circle of radius 35 cm
in 10 second then what is its average velocity in cm?

[KU’17-18]
@35 (b)7 (© 11 (d) 109
Solution: (b); v =13 =2 =235 — 7ot
t t 10

In the following circle, what is the length of arc

02.

AB = VAC2 —BC2 =132 — 52 [AB = 12
W4g8 ABC «F et = ~mr? cm?

%n(6.5)2 cm? = 66.366 cm?
~ AABC €3 (Faee] = (% x AB X BCsin90°) cm?
- leZxSx 1) cm? = 30 cm?

- et wracsn s crawe
= (66.366 — 30) cm? = 36.366 cm? (Ans.)

S

2AOC = 90°, OA =2
(%) form DTEa SR CFaa N 591 4

OBC JQIR*GFa CFaiFeT, Sy =

__ mx2%x60
T 360

Sy = 2 3f a7

[Ctg.B’19]

mr?0

%aﬁ G

zf a5

RS? IUT’17-18
R I : Q¥+, AOBC 93fb fage T 0C = 0B = 2 = r 42
ﬁ £ BOC = 60°
S - A OBC &3 (Fae= = X OC X OB X sin60°
=§x2x2xsin60°=\/§aﬁuﬂw
@38 (6)20 ©8m  (d)20m R SREe e = (5 — V3) 3 @3 (Ans.)
Solution: (c); RS = 0S x 6 = 10 x (“‘*x“) = 8n 3
180 B
A
03. ey p@' [BB’19]
0 =58°
[RB’19] (%) TIF-y @ emi¥e Jeed Sififd 31.416 ELA.
20 S04 BTN SRC*A et e a1 4
PG 0C = 6.5 cm € BC = 5 cm
o) TP RIRICI S CFasse am Fd1 4
b off3fif = 31.416 = 2mr = 31.416
AT
) fr=5 60 = 58° = (22T)°
g, r = OC = 6.5cm o
AC = 13cm ¢ BC = 5cm. 2B = 90° - IO SR (Rt = mor® — =
« AABC AXCHIA @ wfower AC =1 x 52 — 12.654 = 65.8858 cm?
NV




05.

06.

B ey /]

Orowed sfere o *@: Tﬂﬂﬂ'.ﬂ-o\b/

[SB’19]

(%) W-s q mm@wwnmm
R e e 591 4

£BAC = 60° ~. zBOC = 24BAC = 120°
. QAT SR (FAqT = 491 X ﬂ

?T[ (Ans.)

TIETA-3: OABC @(B 7977 43R OAC J&F411 O
e J0e oA | [Din.B’19]

C
<J>
A
<) HIFTI-2 R0 ABCA ST s fefay 1
OABC T80 (F@%e = 2 X AOAC &3 CFaTFa]
=2 x 2 x 0A X OC X sinZA0C

= 40 x 40 x sin45° = 8002 sq cm.
OACO J&FI7 CFaFF= T2 X ——

360°

=1 X 40?2 xg = 2007 sq. cm.

» ABCA ST*IF (Fa@&1= (800v2 — 2007) sq. cm.
= 503.05232 sq. cm. (Ans.)

[AILB’18]

(?1) AB = 5 (1.1, 1 AT W0eR o el

g, r = AB = 5 cm
ABCWC‘WW A =
=-><52 To0 = = 10.9083cm?
N JOEI CFGF, A, = mir?
=1t X 5% = 78.5398cm?

. 91D ST (AT = A, — A,
= 67.6315 cm? (Ans.)

NIH
GD

07.

08.

|| [DB’17]
B—C
D
(¥) 831 ABC G Crareee ey 71
(7)) ZRITEA WL e ez 5411
%’%,Q’C%?IW*TI‘= 6cm
@20 =420 =22 T
180 30
ST, JEFI m@m=%=%aﬁo‘rﬁ.

Jefbq (@ = r? = 361

= 36 x 3.1416 3 A.{.= 113.10 3 ./,
SR, AABC @7 (AT = - - 6 - 6 - sin 42°
= 18sin42° = 12.04 3 . [

ST, e RRITRT SRR CFazeet
=113.10 — 12.04 = 101.06 3*f GI.f.

[RB’17]

P B

(7) TRIACH QA R R W Fa1 4

e fapaibe IRetR s 15 fil,
211 e 9fX. - w&rﬁﬁﬁ‘»ﬂ = =20
- fageiba craz,

= /22.5(22.5 — 15)(22.5 — 21)(22.5 - 9)
=225 X 7.5 X 13.5 = 58.46 % €T3 |
E, fageta @t @it = a

(15)%2+49%2-212 306—441 —135
S CoOSAa = = =
2.15.9 270 270

= a = cos~1(—0.5) = 2.099 @A
». ADE J&FR CFaee]
= § X 2.099 X 62 = 37.782

- RTINS0 el = (58.46 — 37.782)
= 20.68 35f 4T |

&

=225




Orowed sfere o *@: Tﬂﬂﬂ'.ﬂ-o\b/

11. (3 =f¥= Ird 6371 Ff/ ) ot @ Tt <R
09. [Cte.B’17] oyroa 5 B 1 BT @ ol WS v 1882 5.
P TS <iamn— Q w, 517{ E% "Iﬁla? T F© %\ﬁ @TCT @Q?{ﬁ'
() FHFeA-> @ PEF @Ff6 J@F1 =, EQRF w7 (CB’19]
GRS Wﬁﬁml 4 -
YT
l A A oI S, s = 1
) APQR @7 (e = 2 x g2 = X0t
4 4 s 1882\¢ 1882 _ 180 o
3 3 e_;_(ﬁ) —EXT—16.925
=3 x 16 = 16V3 3 &1. .
8248282 1 ~ 16.925° @T“TWWl
«q, cosp = o = COSP =3
. 12. -5 1 A T (S AT AR SR effo
=>cosp=cos60°:p=60°=§ .
PEF - S 250 fBR @ot B e (oitge | S gt
g@aia < (‘ﬂsii Zﬁﬂ = -r p
2 0 s
T o R @ 1°5 el T T | [JB’19]
’ > . (<) R e 6440 .. T AR SICART A
- EQRF T creeeet = (16v3 — &) . SR
A 8
10. [BB’17]
s =r0 = vt €q«,v = 250 meter/min
() IS @7 SIS QRICTAT ST CFagea B A O018507 7 kad
s 4 b= ? _ 6440x102:3.0189077
= 487.0632 min = 8.12 hr (Ans.)
AABC @ AB = 42
AC = 4,BC = 4 13. & [DB’17]
QYT AC2 + BC2 =42 4+ 42 =16+ 16 = 32 BAC
2
(4VZ)" = AB? . ABC CFia (%) ABDC & AR fefar <41 8
o = o — L ¢
@3 £C = 90° = (%)
@2, ABC JGFT] (@l = = Or2 .
2" T T, I BDC &7 07 = s
1 T T
=-X-X4*=-x16=4
27 2 4 e 3 @) MO s =10 = s = 1—15:7?“@&
TR, AABC &7 CFaRT = ~ X 4 X 4 = 8 37 @& o
S[©«, ABDC «F ARG = 6 + -+ 6
. RIACIA ST (F@eret = (4 — 8
) ( ) _ 3047WH30 _ 6047T o £
= (4 x 3.1416 — 8) = 4.57 37 G (27) | =—5 - 5 o
B e/ /] e el ——




Ol T&EXT 71/ @mﬂf‘%mﬂa:@m-ow/

[avﬁ"mﬁfﬁl—\owewm] W@Tﬁ,s=r9=>9=§=%=1.4c (&iicRig]
14. O @uRME 93 Jreq FPTE 10 cm @32 AB S (Ans.)
WG 14 cm | (19 LAOB &3 T (79 9 32 519 AB XQoF CFP = JEFN AOB I (a1 — AAOB
1 1 .
& T AB BRI SI9% FHOA (AT CRATe el 391 99 CFAPT =5 X120 — - Xr?sin@
[BUET’17-18] = % X r?(0 —sin@) = %r2{1.4 — sin(1.4°)}

=~ x 10 X 10{1.4 — sin(1.4° )}

=50 x {1.4 — 0.985}

& =50 x 0.415 = 20.73 3 1. (Ans.)
AB [Note: 6 3 < G SR | ©IF FITHEOCH
S . 180
7T TR, J0ET APTE © = 10 cm, AB 1o 07y fofét Mode e sin (1.4 x 332 @ 1 ¢73 e
s =14 cm A ]
r—[- |CS A N
o " o0 o/ " 33n 131
SIRERIE Kk &QW o/ 4 (i) 18°3345 (ii) 73°7'30 [Ans: () == (i) =]

02. fofare 1 AT “afore ewm F4: (1) @%‘Cﬂ?{ (i) 47”@%‘«'{1?{ (111)—@%’117“
[Ans: (i) 56° 15 (i) 528°45' (iii) 84°]
03. 3o fagrem @t foqb TRe ifoige | Fuow ¢ 47w @i 13bea fEfare e Faeet ofma Sae 3 : 51

CPINfeT e GG foiefar o [Ans: 3,2, 7]
04. @3> IO (FCW 24° (P Tl I | AW JreT T 49 WOIK 2, O3 Jeb1+iBa My 43R = ToF M=
JEFTR P el 51 [JB°15] [Ans: 10.26 f5; 125.716 3G
E
= < A
05. 7 fota ABCD «<f6 Sirersa T4 id7 @ &% I 8 fibE @ 7 S5 «d: DAE (a6 @36
B 3 C
81 | ABCDE {4 ¢taq crazeet foief 41 [Ans: 72.755 G (&)
A L F
06. | fowa ABCD @i SareteRd a9 7y &g I 4 fBH ¢ 3 fBE 9 ACE ¢t @ (G Jeel|
B 3\C
CDE ¢t chazpe fef <4 [Ans: 5.5912 IG5 ()]
07. G0 JGOI7 JCSH (FCT 40° (F1° TLAF ¢ | T oG 1T 20 1. W, 27, ©C J@b11B1 T Mz JSFeT
caze e w1 [Ans: 139.63 I1RGH]

08. =R TTE 6440 RTNoR =01 7T Tom @ 136 g @0w 32" @19 TAY T ©OIond v [ 4
[Ans: 1 [FCafNoE (&)

09. @5 MfEa BIFT 200 T NKE® 20T 800 NG o™ 03 | 5IFE APNE W Fa1 [Ans: 0.6366 F5E]
10. O @i 8.5 G1.. Aypieds @i Joes »ifafe Tom A @ B w2l g1 7w C Rfo Jeea 322 @617 AB @a T2
SRE B 2LACB = 0.4 rad 1 T=of 0, OIRC 864 Fabl=l AB @3 (s el 41 [Ans: 6.8 cm]

J

T st 2




